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1) Find perimeter of 2) Find perimeter of 3) (2x72) - (6 x 58)
square having each side b rectangle having
s (s) equals 100 cm sidesa=33cm
a andb=6cm
S
Answer: Answer: Answer:
4) Find the mean of the following set of data: 5) 826+7 6) 'What isthe probability of rolling a
8,08 even prime number.when rolling adice
Answer: Answer: Answer:
7) (-21) x5 8)  Anamount was increased by 2% to 9) A number is chosen at random from 1
$64.00. Find the original amount. to 25. Find the probability of selecting
divisorsof 7.
Answer: Answer: Answer:
10) A number is chosen at random from 11) 1 3g-2 1, 12) Factorise 6f2 + 10f + 4
1 to 25. Find the probability of
selecting divisors of 7.
Answer: Answer: Answer:
13) Factorise 6f2 + 10f + 4 14)  Increase 20 by 70% 15) Find perimeter of
. . triangle s = 72 ft
s
Answer: Answer: Answer:
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16) 25.7+ 729 17)  Increase 255 by 1/85 18) Find the percentage change from 2 to
21
Answer: Answer: Answer:
19) Simplify 6:18 20) 84 + 47 21) Decrease 272 by 1/68
Answer: Answer: Answer:
22) 180.42 + 18.6 23) Share 20 in theratio 13:7 24) Share 20 in theratio 13:7
Answer: Answer: Answer:
25) Find area of 26) 300 =+ 100 27) Find the mode of the following set of data:
triangle 42, 42, 38, 38, 38, 40, 40, 40
b b a=87in,b=90in
a
Answer: Answer: Answer:
28) 67.8 +66.4 29)  Findthemean of thefollowing set of data: 30) 'What isthe probability of rolling a

Answer:

4,01,03,04,17

Answer:

number less than 6.when rolling a
dice

Answer:
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31) Round 19.30756014 to the nearest 32)  Round 0.268 to the nearest 10 33) Find area of square
whole number. having each side (s)
s equals29in
5
Answer: Answer: Answer:
34) 35) Round 19.00487 to the nearest 10000 36) Round 19.00487 to the nearest 10000
Find Volume of
Square Pyramid
Answer: Answer: Answer:
37) (7x59) - (10 x 93) 38) 13+81 39) (4x 2% x (8x 42
Answer: Answer: Answer:
40) (4x2%x (8x42) 41) Convert the following mixed number || 42) (8x33) - (8x47)
5%/ into an improper fraction.
Answer: Answer: Answer:
43) Decrease 297 by 2/99 44) 08:29 am To 02:31 pm 45)
Find VVolume of
Triangular Pyramid
Answer: Answer: Answer:
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46) Convert the following mixed number 47) 59.9 +34.9 48) Anamount was decreased by 1.1% to
9"'/6 into an improper fraction. $440.00. Find the original amount.
Answer: Answer: Answer:
49) Convert thefollowing fractionintoa || 50) 5%, x 2%,
mixed number: 15/
Answer: Answer:
Total: /50
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1) 400cm 2) 78cm

8) $62.75 9) g

15) 216ft 16) 98.6

22)9.7 23)1:19

29) 4.36 30) %/

36)19.0049  37) 13664585

43) 291 44) 06 Hours 02 Mins
50) 1213/,

3) -2343652
10) %/ g

17) 258
24)1:19
31)19

38) 94

45) 650
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Answers:
444 5)11.8 6) Yg
11) 2% 12) (2f + 2)(f + 4) 13) (2f + 2)(f + 4)
18) 950% 19)1:3 20) 131
25) 3277.4731406222in 26) 3 27) 40
32)03 33) 841in 34) 2406.6666666667
39) 32 40) 32 41) 3%/
46) 29/, 47)94.8 48) $435.16
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7)

14) 34

21) 268

28) 134.2
35) 19.0049
42) 130856
49) 3
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